




• LEFT TURN=90° LEFT

• RIGHT TURN=90°RIGHT

• DIFFERENCE BETWEEN TWO DIRECTION=90°

• DIFFERENCE BETWEEN TWO SUB-DIRECTION=90°

• DIFFERENCE BETWEEN DIRECTION TO SUB-DIRECTION=45°

• FOR SHORTEST DISTANCE WE ALWAYS USE PYTHAGORAS THEOREM



• Village Q is to the North of the village P. The village R is in the 

East of Village Q. The village S is to the left of the village P. In 

which direction is the village S with respect to village R?

• ग ाँव Q, ग ाँव P के उत्तर में ह।ै ग ाँव R, ग ाँव Q के पवूव में ह।ै ग ाँव S, ग ाँव P के

ब ई ंओर ह।ै ग ाँव R के सन्दर्व में ग ाँव S ककस कदश में ह?ै

A. West
B. South-West
C. South
D. North-west



• Starting from the point X, Jayant walked 15 m towards west. He turned left and 

walked 20 m. He then turned left and walked 15 m. After this he turned to his 

right and walked 12 m. How far and in which directions is now Jayant from X?

• कबंद ुX स ेशरुू होकर जयंत पकिम की ओर 15 मीटर चलत  ह।ै वह ब यें मडु  और 20 मी चल । 

किर वह ब यें मडु  और 15 मी चल । इसके ब द वह अपनी द यीं ओर मडु  और 12 मीटर चल । 

जयंत अब X स ेककतनी दरू और ककस कदश  में ह?ै

A. 32 m South
B. 47 m East
C. 42 m North
D. 27 m South



• Ganesha cycles in the direction of the sun in the evening.  After a 

while, he turns left and then turns right.  After a while, he again turns 

right.  In which direction is he standing now?

• श म के समय गणशे जी सयूव की कदश  में स इककल चल ते हैं। कुछ दरे ब द वह ब एाँ 
मडुत  ह ैऔर किर द एाँ मडुत  ह।ै कुछ दरे ब द वह किर से द यें मडुत  ह।ै वह अब ककस 

कदश  में खड  ह?ै

A. South
B. West
C. North
D.East



• Jagan starts from his house and walks 9 km towards South-East  and then 

he turns 90° to his left and walks 12 km.  After walking one reaches the 

temple.  What will be the shortest distance from this temple to his house? 

• जगन अपने घर स ेचलन  शरुू करत  ह ैऔर दकिण-पवूव की ओर 9 ककमी चलत  ह।ै और 

किर वह अपनी ब ई ंओर 90° मडुत  ह ैऔर 12 ककमी चलत  ह।ै पैदल चलकर मकंदर 

पह चंत  ह।ै इस मकंदर स ेउसके घर की न्यनूतम दरूी ककतनी होगी?
A. 11
B. 12
C. 5
D. 15



• Golu started from his house towards North. After 

covering a distance of 8 km. he turned towards left and 

covered a distance of 6 km. What is the shortest distance 

now from his house?

• गोल ूअपने घर से उत्तर की ओर चल पड । 8 ककमी की दरूी तय 

करने के ब द। वह ब ई ंओर मडु  और 6 ककमी की दरूी तय की। 

उसके घर से अब सबसे कम दरूी क्य  ह?ै

A. 12
B. 10
C. 15
D.None of these



• After walking 6 km, I turned to the right and then walked 2 km. 

After then I turned to the left and walked 10 km. In the end, I was 

moving towards the North. From which direction did I start my 

journey?

• 6 ककमी चलने के ब द, मैं द यीं ओर मडु  और किर 2 ककमी चल । उसके ब द मैं 

ब यीं ओर मडु  और 10 ककमी चल । अंत में, मैं उत्तर की ओर बढ़ रह  थ । मैंने 

अपनी य त्र  ककस कदश  से शरुू की? A. North
B. East
C. West
D.South



• An insect can move in both front and reverse directions.  He 

walks in front for 3 minutes and then reverse for 2 minutes.  

He walks at a speed of 5 meters per minute.  At least for how 

long will he be able to cover 105 meters?

• एक कीट स मने और ररवसव दोनों कदश ओ ंमें चल सकती ह ै। वह 3 कमनट तक 

स मने की तरि चलत  ह ैऔर किर 2 कमनट के कलए ररवसव चलत  ह ै। वह 5 

मीटर प्रकत कमनट की गकत पर चलत  ह ै। कम से कम वह ककतने वक्त तक 105 

मीटर तक तय करने में सिम होंगे ?

A. 105
B. 95
C. 21
D. 93



• Roshan walks 15 km towards East .  Then he turned 90 
degree clockwise and again covered 8 km.  What is the 
shortest distance from the starting point?

• रोशन पवूव की ओर 15 ककमी चलत  ह।ै किर वह 90 किग्री दकिण वतव
मडुत  ह ैऔर किर स े8 ककमी की दरूी तय करत ह।ै आरंकर्क कबंद ुसे
न्यनूतम दरूी क्य  ह?ै A. 25

B. 17
C. 18
D.23



• A man went to a zoo.  He saw four animals in the cage around him.  

There is a monkey in front of him.  There is a tiger behind that 

person.  The lion and the elephant are his left and right respectively.  

If the person's face is in the direction of sunrise, then in which 

direction is the lion with respect to the tiger?

• एक आदमी कचकडय घर गय । उसने अपने च रों ओर कपंजरे में च र ज नवरों को दखे ।

उसके स मने एक बंदर ह।ै उस व्यकक्त के पीछे एक ब घ ह।ै शेर और ह थी क्रमशः 

उसके ब एाँ और द एाँ हैं। यकद व्यकक्त क  मखु सयूोदय की कदश  में ह,ै तो ब घ के सन्दर्व 

में कसंह ककस कदश  में ह?ै

A. North-East
B. South-West
C. South-East
D. North-West



`

• महशे उत्तर की तरि मुंह करके खड  ह|ै वह दकिण वतव कदश  में 180° और 

किर उसी कदश  में 45° और किर 270° व म वतव कदश  में घमू  ज त  ह ै

|अब वह ककस कदश  में मखु करके खड  ह?ै 

Mahesh is standing facing north. He turns 180° in the clockwise 

direction and then 45° in the same direction and then 270° in 

the anticlockwise direction. In which direction is he facing 

now?

A. South-West
B. South-East
C. North-East
D. North-West


